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INSTRUCTIONS

CHEMISTRY

1. This question paper consists of only objective type questions for a total of 100 marks

2. Four options are provided for each question

3. Answer all questions. A correct answer gets +1 mark and a wrong answer gets -1/3

mark.

4. Some useful physical constants

(2}
(b)
{c)
(d)
{c}
(N
8
{h)
(i}
{
{k)

n

Universal gas constant, R=28.314 J K mo!”
Planck’s constant, h= 6.626 x 107* J.s
Acceleration due to gravity,g=9.8 m 52
Speed of light in vacuum, ¢ =2.988 x 10° ms™
Avagadro number, N (Np) = 6.023 x 10* mo!
Boltzmann constant, kg = 1.38 x 102K
Electronic charge, e = 1.602 x 10 ¢
Electronic ﬁass, m=9.109x 10" Kg
Permittivity of vacuum, &= 8.854 x 1072 Fm?!
Faraday constant, F = 96500 C mol™'

1 calorie = 4.184 J

1 atm = 760 Torr

Abbreviations used:

Me — Methyl, Ph - Phenyl



CHEMISTRY

1. Arrange the packing efficiency for the following cubic structures: Diamond (D), Simple
Cube (SC), Face-Centered Cube (FCC) and Body-Centered Cubce (BCC)

(A) D>FCC>BCC>S8C
(BYFCC>BCC>SC>D
(CO)BCC>FCC>S8C>D
(D) D >SC>BCC>FCC

2. The structure of CsCl transforms to NaCl under high pressure. During this process the
coordination number of Cs and Cl change from

(A) 8:8
(B) 6:6
(€) 12:12
(D) 8:6

3. TiQ, exists as both rutile and anatase. In the rutile form the band gap is 3 eV. The
approximate wavelength of light that corresponds to this energy band gap is

(A) 40 nm
(B) 3000 nm
(C) 400 nm
(D) 300 nm

4. The symmetry elements present in p-dichlorobenzene are

(A)E, C; 20y, Oy, 1
(B)E, C3, on, 20y, 1
(C)E, 3C3, 20y, on, 1
(D)E, 3C;, 26y, 2064, 1



5. A certain powder diffraction pattern has the first three high peaks at 28 = 9.66, 12.54 and
28.39° respectively when recorded using copper radiation of A = 1.542A. If the
wavelength is changed to Molybdenum with A = 0.7107A the peaks will

(A} shift to lower angles
(B) shift to higher angles
(C) stay at the same angles

(D) shift such that the first two move to lower angles and the third to higher angles

6. An AXg molecule belongs to the Oy, point group. The molecule is modified to AXsY. The
point group changes to '
(A) Dy,
(B) D¢n
(C) Can
(D) Cus

7. A fixed mass of an ideal gas undergoes a reversible adiabatic expansion. In this process
the temperature of the gas
(A)rnises
(B) drops
(C) remains unchanged

(D)can increase or decrease depending on the initial pressures and volumes

8. The magnitude of the colligative property of a two-component solution depends on the

(A) number of solute molecules
(B) number of solvent molecules
(C) number of solule molecules relative to that of solvent molecules

(D) total number of solvent and solute molecules



9. One ml of pH 6 solution is diluted to 1000 ml. The pH of the resulting solution is nearly
equal to
(A) 9
(B) 6.5
<y 7
(D) 7.5

10. For the presumed equilibrium at 25°C, CHs (g) + 20, (g) <=> CO; (g)+ 2H,0 (g)
AH = — 802 ki. The equilibrium constant of this process is

(A) shifted to the right by increasing the temperature
(B) shifted to the left by increasing pressure
(C) unaffected by change in pressure

(D) shifted to the right by increasing pressure

1. The number of radial nodes in the 4s orbital of the [1-atom in a finite distance from the
nucleus is

(A} 0O
(B) 4
€) 2
(D) 3

12. If a compound is formed in a FCC lattice with M atomns at the corners of the unit cell N
atoms at the face centers, the formula of the compound is

(A) MN
(B) MN;
(C) M3N

(D) MzN,



13.

14.

15.

The amount of NO; in a smoggy atmosphere was measured to be 0.8 parts per million.
The barometric pressure was 760 Torr. The partial pressure of NOs in atmospheres is

(A) 80
(B) 8
(C) 0.8
(D) 0.08

The arrangement in terms of increasing order of electronegativity of the four elements Li,
Mg, Zn, Pbis

(A) Li, Mg, Zn, Pb
(B) Li, Zn, Mg, Pb
(C) Li, Mg, Pb, Zn
(D) Pb, Zn, Mg, Li

Light of wavelength 50 um is incident on a metallic surface with a work function of 2 eV.
The kinetic energy of the most energetic electrons (in eV) and stopping potential (in V)
are respectively as follows:

(A)2eV,049V

 (B)2.49eV,049V

16.

(C)2eV,249V
(D) 0.49 eV, 0.49 eV

Which among. the following solvents, dimethyl formamide (DMF), carbon tetrachloride
(CCly), tetrahydrofuran (THF), hydrogen fluoride (HF) is not an aprotic solvent

(A) THF
(B) HF

(C) DMF
(D) CClq



17.

18.

19.

20.

The ti2 of a radioactive element is 231 min. The time taken for 9/10th fraction of this
element to decay is approximately

(A) 770 min
(B) 77 min
(C) 375 min
(D) 35 min

Arrange the following molecules in order of increasing bond polarity (1) HyO, (2) NH;,
(3) PH; and (4) HaS

(AN <@)<B3) <@
B)Y#H <(B3)<(2)<(1)
O3 <@ <@ <)
Dy <@H <) <@

5.26 gm of a sulfur containing ore of copper releases 2.12 g of sulfur dioxide. Assuming
that the ore only contains copper and sulfur, what is the empirical formula of the ore

(A) CusS
(B) CuS;
(C) CuS

(D) CusS

The elements NaCl and Kr crystallize in a cubic struciure. While NaCl is a solid at room
temperature, Kr is a gas? The reason for this is

(A) NaCl has covalent bonding and Kr has metallic bonding
(B) NaCl has ionic bonding and Kr has covalent bonding
{C) NaCl has ionic bonding and Kr has van der Waals interactions

(D) NaCl has ionic bonding and Kr has hydrogen bonding



21.12.0 g of carbon reacted with oxygen to form CO and CQ; at 25 °C and constant pressure
to release 75.0 kcal of energy. If no carbon is left behind, the amount of oxygen utilized
during this reaction would be

C+ Oy 2 CO; (AH = -94.05 kcal/mol)
C + 1720 = CO (AH = -26.41 kcal/mol})

(A) 0.859 moles (27.5 g)
(B) 8.59 moles (275 g)
(C) 0.0859 moles (2.75 g)
(D) 85.9 moles (275 g)

22.NO, gas is paramagnetic at room temperature. On cooling below O °C, it becomes
diamagnetic. The reason behind this change of property is

(A) NO, becomes a liquid
(B) NO; becomes N>QOq4

(C) NO; becomes solid

(D) NO, becomes amorphous

23. Bulk CdS has a band gap of 2.6 €V and its optical absorption edge lies at ~475 nm. What
will happen to the absorption edge when you make CdS in nanometer dimensions?

(A) The absorption edge will shift to smaller wavelengths
(B) The absorption edge will shift to longer wavelengths
(C) There will be no change in the position of the absorption edge

(D) The absorption edge will disappear



24. Which of the following compounds would be not be considered aromatic in its behavior?

(A)A
(B)B
(C)C
DD

25. The major product of the following reaction

o
No\ oRt 4 CeHs
Y
A
o
is:

(A H>A<H

OHC COLEL
(B} H>A<CUin
OHC H
AN
= COLEL
0
{D} wcoza
= H



26. The product of the following reaction

/\0 Pyridine
‘\\/J\/YOH CgHyz
0 A
1S:
(A} ¢
Lz OH
o
& o
o Ay
7 OH
o
© [ o
OH

27. The product of the following reaction

o}
_— -

EKY’l\‘T CeHia

7800
is:

NHMe

{C} MQ\Q/COZCMB:
N

L
G, NHMe
N Vad

10




28. The major product of the following reaction

P 0
NaBH,
N OCHjy *
kF‘h

CeCly
CHZClz / MeOH
780C
is:

OH
o O
N OCH,3
kF'h
" OCHj

N

Ph

‘(C) P OH
Sen

©) OH
H

29. The Polymer which has amide linkage?
{A) Nylon-66

(B) Terylene

(C) Teflon

(D) Bakelite

30. Which of these reagents could accomplish the following reduction?

i 8
N=C—-CH,—C—CH,~CH=CH; ———> N=C-CH,— (I'J— CH,-CH—=CH,
' H
(A) NaBH,
(B) LiAlIH,

(C) 1 mole H,, low pressure
(D) H,0"

11



31. Which if any of the following is a triglyceride?

HaC CHs OH

H2CE'0CO(CH2)15CH3

H2C HQ'OCO(CH2)14CH3
HoC-OCO(CH2)16CHa 0 = 0

CHa
A B C D

(A)A

(B)B

(G C

(DYyD

32. What is the best reagent to convert isopropyl alcohol to isopropyl bromide?

CH; CH;
CH;- (le— OH L"" CH;- J"JH- Br
(A) HBr |
(B) SOBr;
(C)Br,
(D) CH;MgBr

33. The Hoffmann degradation of benzamide yiclds:

(A) benzene
(B) benzoic acid
(C) aniline

(D) phenol

12



34. Which one of the following Diels-Alder reactions is feasible?

{A)maleic anhydride + ethylene
(B) maleic anhydride + cyclopentadiene
{C) maleic anhydride + norbornadiene

{D)cyclopentadiene + benzene

35. The product of the reaction of benzoic acid with diazomethane is

(A) methyl benzoate
(B) benzamide
(C) benzene diazonium chloride

(D) azobenzene

36. Which onc of the following reactions leads to the formation of a Grignard reagent?
(A) Mel +Zn
(B) Mel + Mg
(C) PhCl + Na
(D) MeBr+K

13



37. The major product of the following reaction

Oﬁar
OAc

is

(A)

(B)

(C}

(D}

(i} Ag2CO;

CH,Cl,

(i) >—0|-|

14



[}

8.

PhyP=CH, HBr

o]
j
I
]
=

H;0,

The structures of the products A and B formed in the above reaction scheme respectively are:

and

of
.

zg

o)
: i =
)

and

and

Lonn) —
<§9<£Q
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o]
H' cat.
—_ - A i — B
MeOH
O
0

The structures of the products A and B formed in the above reaction scheme respectively are:

(A)
O
COH I\
N
E and | Q
CO,Me CO;Me
(B)
CO,Me MeO,C
E and \”\
CO,Me CO;Me
©)

COMe I\
N
| and | Q

CO.Me COMe
(D) o
COH
( and &)
COMe
O

16



40.
(COCl),

X i) Hg(OAc), R DMSO, -78 °C
—_— i B
ii) NaBH, . NEt;, DCM

iii) NaOH, H,0

The structures of the products A and B formed in the above reaction scheme respectively are:

(A)
OH O
and J\
(B)
OH O
and
H

©

O

OH and J\H

@)

OH

and

17



41.

0
i) LDA u*
NO,

ii) 2-cyclohexenone

r
>
W

The structures of the products A and B formed in the above reaction scheme respectively are:

(A)

OH

e
o
%

NO, 0,
(D)
)0 0
NGO,

18



42. Which of the following is a pyrimidine base?

(A) imidazole
(B) guanine
(C} cylosine
(D) adenine

43_ The rate of solvolysis in the following systems ore
we o pre CE“ é’
HJC>;—( %_/ Hil v
would follow the sequence

(A I>I>1I1>1V

BYII>1>[>1V

(C) IV>II>1>1

(D) IV>II=1>]

44, The axial preference of the bromide group in the following compound

OBz
G
BzO
8z0
BzO Br
Bz = CgHsCO

is due to:

(A) the presence of an ester group in the adjacent carbon
{B) the 1,3-diaxial interactions

(C) the favorable bond angle between -O-C-Br bonds

(D) the favorable interactions between the lonc pair endo-cyclic oxygen and the C-Rr
bond

19



45. The molecular formula for glycine is C,H;0,N. What would be the molecular formula for
a linear oligomer made by linking ten glycine molecules together by condensation
synthesis?

(A)C20Hs50020N10
(B) C20H320:iNyo
(C) C20HagCuoNyo
(D) Ca0HgsO29N g

46. Which pair of amino acids absorbs the most UV light at 280 nm?

(A)Thr & His
(B) Trp & Tyr
(C)Cys & Asp
(D)Phe & Pro

47. What is the Ana for the following compound? Use the provided parameters for your
calculation. '

transoid base value = 214 nm
cisoid base value = 253 nm
alkyl groups on base =+5nm
exocyclic C=C =+5 nm
extended conjugation =430 nm

(A)234 nm

(B) 244 nm

(C)273 nm

(D)283 nm

20



48 What is the best name for the following compound?

(A) 1,2,6-trimethylheptane
(B) 2-ethy[-6-methylheptane
(C) 2,6-dimethyloctane

(D) 3-methyl-6-(1-methyethyl)hexane

49, Héating benzene in a large excess of 80% D.SO, in D,O results in what product?
(A) CH,SO,D
(B) C,H,OD
(C) CgHsD
(D} CsDs
50. Hydration. by oxymercuation, of 3-methyl-1-butene gives 3-methyl-2-butanol. What is the
observed rotation of this product, using a 20% solution in ethanol in a 1dm polarimeter
cell? (Assume-the specific rotalion of the pure (S)-enantiomer to be +16°)
(A)+3.2°
B)-3.2¢°
(C) 180° (+ or-)

(D) 0°

51. The correct symmetry for CIF; is
(A) Cao
(B) Csv
(C) Dsp
D) Gy

21



52.

53.

54,

53.

56.

Which one of the following pairs is isoelectronic?

(A)CN", BN
(B) CO,, NO
(C) 0\ N,

(D) NO*, CO

According to VSEPR theory the structure of NF; is

(A) trigonal planar
(B) tetrahedral
(C) see-saw

(D) trigonal bipyramidal

PMe; in a borane cluster is a:

(A) 3-electron donor
(B) 2-electron donor
(C) l-electron donor

{D) 5-electron donor

The carbanion ‘character of Group 13 alkyl compounds decreases in the order:

(A) ALRg > GaR; > BR,
(B) ALRs < GaR; < BR;

(C) BR3 > AL,R¢ > GaR,
(D) GaR; > BR; > Al;Rg

Which of the following metalloproteins is a redox protein?

(A) Carbonic anhydrase
(B) Cytochrome ¢
(C) Femitin

(D) Transferrin

22



57. The metal that is not prevalent in the biological system is:

58.

59.

60.

(A) Platinum
(B) Manganese
(C) Coball

(D) Nickel

The complex that would show paramagnetic behavior is

(A) MnO,]

(B) [FeClLJ™

(C) [Cu(},10-phenanthroline);]"
(D) [Fe(CN)e]*~

Which of the following trivalent lanthanide ions shows maximum spin-only magnetic
moment value?

(A)La*

(B) Sm>*
(C) Gd*
(D) Tm™

Red B-ketoenolate complexes of Ni(II} are diamagnetic. These red complexes turn bluish-
green in presence of water or amines and become paramagnetic. Which of the following
structure is formed during the reaction?

(A) Tetrahe(.ir.al
(B) Square-planar
(C) Octahedral
(D) Dodecahedral

23



61.

62.

63.

64.

65.

Which one of the following electronic configurations of an octahedral metal complex will
show threc spin-allowed electronic transitions?

(A) tog'
(B) t’
(C) tzg"'e;
(D) ty'eg’

Reaction of [CoCI(NH3)sJ** by Cr** (aq) leads to the formation of [CrCI(H0)s]*". This is
an example of

(A) ohler-sphére redox reaction

(B) inner-sphere redox reaction

(C) acid hydrolysis reaction

(D) base hydrolysis reaction

The origin of the yellow color of an aqueous solution of K,CrOy is due to

{A) d-d transition

(B) H;O to Cr®* charge transfer
(C) O% to K" charge transfer
(D) O% to Cr'® charge transfer

The oxidation number of Fe in Na;[Fe(CN)sNO] is

(A)+1
(B) +2
(©)+3
(D) +4

Which one of the following is a comect representation of tetraammine nickel (II)
hexacyano ferrate (I1I)?

(A) [Ni(NH3)4][Fe(CN)]
(B) [Ni(NHz)4]3[Fe{CN)s]4
(C) [Ni(NH;)4][Fe(CN)slx
(D) [Ni(NHs)4]3[Fe(CN)s]2

24



66.

67.

68.

69.

70.

The complex that obeys the 18 electron rule is

(A) [Mn(CO)s]

(B) [(*-CsHs)Co]

(C) [Mo(CO)3(CH;CN);]
(D) [(n*-CsHs)Ti]

The order of increasing CO bond strength 1s

(A) [Fe(CO)J* > [Co(CO)]™ > [NI(CO)s] > [Mn(CO)]
(B) [Co(COMT > [Fe(CONMI™ > [Mn(CO)]" > Ni(CON]
(C) INi(CO)] > [Mn(CO)]* > [Fe(COY]* > [Co(CON]
(D) [Mn(CO)s]" > [Ni{CO)] > [Co(CO)]™ > [Fe(COY]*

The number of isomers that exists for [Mo(CsHsN)3(CO)3] is

(A)one
(B) two
(C) threc
(D) four

The reaction of [n*-CsHs)Fe(CH3)(CO);] with PPh; results in

(A) [(°-CsHs)Fe(CH;)(CO)(PPhs)] + CO
(B) [(n'-CsHs)Fe(CH3)(CO)2(PPhs)]

(C) [(n*-CsHs)Fe(COCH;)(CO)(PPh)]
(D) [(m*-CsHs)Fe(COCH;)(PPhs)] + CO

The complex [Co(NH3)s(NO,)J*" is capable of exhibiting

(A) optical isomerism
(B) geometrical isomerism
(C) ionization isomerism

(D) linkage isomerism

25



71. The reaction of acetyl chloride and AlCl; with ferrocene gives

(A) CACH, COCH, (B) Ve COcH,
Fe
~
COCH,
Fe .

Fe

@cocm

©) q@) (D) FeCl; and AI{COCHj3);

Fe—COCH,

&

72. The reaction of H; with Wilkinson catalyst results in

(A) “cis™ addition of H; and metal oxidation state change of -2
(B) “trans” addition of H, and metal oxidation siate change of +2
(C) “trans” addition of H, and an oxidation state change of -2

(D) “cis” addition of H; and an oxidation state change of +2

73. The hydrogenation of a prochiral alkene with a metal complex containing a phosphorus
ligand is likely to yield a chiral product when the ligand is

(A) I:P(CsHst (B) PPh;

P{CgH:),

° 0 ee
P(CeHs), P(CeHs),
S

26



74, Given the mass of an electron as 9.109 x 107! kg and the speed of light, 3 x 10® m s™, the
de Broglie wavelength of an electron traveling at half the speed of light is

(A)4.85x 10" m
(3)9.7x 10" m
(C)4.85x 10 m
0)9.7x 107 m

75. The O—0 bond is the strongest in

(A) 0,
(B) 02
© 0
(D) 0"

76. The halogen with the highest polarizability is

(A) fluorine

(B) chlorine

(C) bromine
- (D) iodine

77. Alpha decay of 122" Mg results in
(A) 1 Mg
(B) |020Nc
(C) 1*’Na
(D) 137"Al

78. The type of force that holds the layers of carbon atoms in graphite together is

(A} ionic
(B) hydrogen-bonding
(C) van der Waals

(D) covalent

27



79. The point group symmetry of allene, CH;=C=CH;is

(A) D2y
(B) Dag
() D,

(D) Ca

80. The number of nodes that 7* orbital in CH, = CH> is

81.

82.

83.

A) 1
{B) 2
(C) 3
(D) o
The mean free path of a gascous molecule is 50 cm at a pressure of 1.0 x 10™ Torr. The
mean free path when the pressure is increased to 1.0 x 107 Torr will be
(A)0.5cm
(B) 5.0 cm
(C) 500 cm
(D) 5000 cm
5.0 gm of a non-dissociating organic substance dissolves in water to generate an osmotic
pressure of 7.15 atm at 25 °C. The molar mass of the substance is
(R = 0.08206 atm L mol™ K"
(A) 171 g mol™
(B) 342 g mol™
(C) 684 g mol™
(D) 35640 g mol™

Sufficient heat is supplied to a monoatomic gas to double its volume and temperature
while maintaining its pressure at 1.00 atm. The change in its internal energy is:

(A)2.26 kI
(B) 1.13kJ
(C)34KJ
(D)34 kJ
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84. A crystal system is determined by the lengths (abc) and the angles (afy) of the unit cell.
For Orthorhombic system these are

(Aya=b=ci a=8=y=90
(Bya=bs#c; a=p=y=90
(C)azb#e;  a=B=y=90
D)a#b#e;  a# BEYE 0

85. The molecule that will not have any absorbance in the microwave or the infrared regions
of the electromagnetic spectrum is:
(A) CO
(B)HF
(C) CH,4
(D) H;

86. Laser induced fluorescence is a powerful technique to monitor chemical species that
fluoresce. The absorption maximum for a given molecule is at 420 nm. The fluorescence
maximum for this molecule could be at:

(A) 23809 cm’™
(B) 22000 ¢!
(C) 26000 cm™
(D) 2381 cm™

87. The EMF of the concentration cell

Cu(s) | Cu?* (0.012 M) [ Cu** (1.2 M) | Cu(s)
is .

(A)0.001V

(B)0.025 V

(C) 0.059V

(D)0.118V
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88. An electrochemical cell used for electroplating operates at a current of 10 A. Coulombs
that pass through in this process in an hour is

(A) 18000
(B) 36000
(C)3600
(D) 1800

89. When NaOH (aq.) solution is titrated with HCl (aq), the variation of conductance as a
function of volume of HCI (increasing volume towards the right on the x-axis) will take
the shape of the curve as in

2 s

g =

=] a 2

B / 5 \/ b

= &

sl g

Vol. of HCI Vol, of HCI
]
o Cc g— /\ d
Q E
2 o
5 \ 2
= —— &
a
[r)
Vol. of HCI
Vol. of HCI

(A)a

(B)b

OCc

(D)d
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90. A solution containing one mol per liter of each Cu(NOQj);, AgNO;, Mg(NO;); and LiNO;
is electrolyzed using Pt electrodes. Standard electrode potentials are:

Ag'/ Ag 080V
Cu¥* /Cu 0 034V
Mgt / Mg 2237V
Li*/Li :-3.10V

With increasing voltage. the sequence of deposition of the metals on the cathode is:

(A)Li, Mg
(ByMg, Li
(C)Cu, Ag
(D)Ag, Cu

91. An element A (At. Wt. 60.22) crystallizes in the fce close-packed lattice and has a density
of 8 gm/c.c. the unit cell lattice parameter of A is

(A)3.65 A
(B)2.65 A
(C)435 A
(D)2.35A

92. Benzene has a freezing point of 3 °C. The molal depression constant Ky=5 °C /M. A 0.1
molal solution of a solute A in benzene has 40 % of the solute existing in the form of a
dimer, A,. The freezing point of the solution is expected to be

(A) 2.5 °C
(B)3.5°C
(C) 2.6 °C
(D)3 °C
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93. The cylindrical container shown below has a total volume of one litre and has a freely
moving piston separating 250 mg of He from 250 mg of Nitrogen, at 20 °C

1 2
He N,
AfncavnsEvercaruvesT AR R Rannas > T T PP T Y PP Pr e >
L, L,
At equilibrium, the ratio of the two lengths, L/l s
(A) 1
®B)7
(C) 177
(C)7/2

94. For a pure substance, the triple point in a phase diagram has

(A) one degree of freedom
(B) two degrees of freedom
{C) three degrees of freedom
(D) zero degree of freedom

95. The amount of reversible work done to compress one mol of an ideal gas from 100 atm,
300 K to a final volume that is half the initial volume is
(A) 2.53k]
(B) 1L.73kJ
(C) 5.851J
(D) 473 kI
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96. The heal evolved in combustion of acetylene at 25 °C is 310.5 kcal/mol. If the enthalpy of
formation of carbon dioxide is — 94.0 kcal/mol and that of water is — 68.3 kcalfmol, the
enthalpy of formation of acetylene will be

(A) 65.3 kcal/mol

(B) 54.2 kcal/mol

(C) 85.2 kcal/mol

(D) 108.3 kcal/mol
97. In the following tetrapeptide,
H,N-Ser-Ala-MeAla-Leu-CO,H
the non-coded amino acid is:

(A) HaN-Ser
(B) Ala

(C) MeAla
(D) Leu-CQO,H

98. Thermal melting experiment of a nucleic acid provides information on:

(A) the primary sequence of the nucleic acid
(B) the conformational stability of the nucleic acid
(C) an estimate of the molecular weight of the nucleic acid
{D) kinetics of the nucleic acid folding
99. The complementary sequence for the foltowing oligonucleotide
A-T-G-T-C-A-T-G-C-C-G-A-T-G-C
18t
(A) A-G-T-A-C-A-T-G-C-T-A-T-A-C-G
(B) T-A-C-A-G-T-A-C-G-G-C-T-A-C-G
(C) C-A-T-A-C-A-T-G-C-A-C-A-T-G-C

(D) G-C-T-C-C-G-A-G-T-A-G-A-T-A-C



100. Enzymes responsible for peptide bond cleavage in proteins cleavage are

" {A) Lyases
(B) Kinases
(C) Proteases

(D) Aminotransferases

END of the Question Paper
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